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DOW30 18456.35 (-0.09%)
NASDAQ 5154.98 (+0.30%)
S&P500 2170.06 (+0.16%)

NIKKEI225 16476.84 (-1.13%)

SHANGHAI 2994.32 (+0.08%)

FTSE100 6721.06 (-0.44%)

DAX30 1027493 (-0.43%)

CAC40 4420.58 (-0.59%)
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3y 1.203% (-1.9bp)
Sy 1217% (-2.9bp)
10y  1357% (-4.6bp)

Cch 1.360% (Obp)

3y -3.1bp (-0.4bp)
Sy -5.0bp (-0.6bp)

10y  -145bp  (-0.4bp)
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1Y 1.2375% (-1.00bp)
2Y 1.1850% (-2.00bp)
3Y 11725% (-2.25bp)
5Y 11675% (-3.50bp)
7Y 11750% (-4.50bp)

10Y 1.2125% (-5.00bp)

1*2Y  -525  (-1.00bp)
2*3Y  -125 (-0.25bp)
2*5Y  -175 (-1.50bp)
3*5Y  -050 (-1.25bp)
5*7Y 075 (-1.00bp)

5*10Y 450 (-1.50bp)
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0|=2-2527| GDP(QoQ) (0| F:1.1%, Oi|A}2.6%)
-72 O|A|ZICHAH|RFAIZ| X 4= (0] :89.5, 0| 4:90.5)
-7€ A|Z}DPMI (0] 7:56.8, 0| At:54.0)
S 22Z-GDP(QoQ) (0] M:0.6%, 0| A:0.3%)
-72 CPI(YoY) (0]7:0.1%, 0 At:0.1%)
-78 2 2ICPI(YoY) (0] %:0.9%, O AH:0.9%)
-68 MAHE (0[F:10.1%, 0f2+:10.1%)
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-6 ot AHPM L (MoM) (0]F:2.5%, 0f|%:0.2%)
-5t AOjEHOf (MoM) (0] 7:0.6%)

32 MHARE A (MoM) (0]F:0.1%)




